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All questions carry equal marks.
Use of calculator is permitted.
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1. What is meant by Analysis of Variance ? Explain the techniques of analysis

of variance. 10

U= fageloor R w1 ? Y=L favevue 93 e &

Or
(fenam)

Find the maximum or minimum values of the following functions :
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=x3-3x + 1
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Define the maximum and minimum values and state the conditions for

maximum and minimum values. 10

TEqH SN0 =[AqH HeATdl AT HEA HewH S =FAqd oI 3T Er.
Or
(feram)
Find the distance between A and B points if A(1, 4) and B(4, 8).
ST A1, 4) 3T B4, 8) 3™d ™ A offur B fogmeia oo i

How will you derive the equation of a straight line whose slop is given and

passing throw origin ? Explain with diagram. 10

STRIEAHIA SO Eeetorel IaR faer oTea W™ IHiehisl ®d sed 2 Sfa
Figd faee
Or
(fenam)
Given the utility function U = g¢,q, and the budget constraint 100 =

2q, + 5q,, find out the optimum quantities of q, and g, commodities for

maximum satisfaction.

ST wed U = g,q, S0 SRST=@ha 7af@a 100 = 29, + 5q, Gl @@
q, ST g, & HeRIqH AN

What is meant by Cobb-Douglas production function ? State its
properties. 10

FiF-S SR Hed RIS &hE 2 = TOEH |
Or
(fenam)
Given the demand function ¢ = 40 — 2p + p?and p = 3, p = 5, find out the
elasticity of demand for each price.

(e (a

AT ®ed g = 40 — 2p + p2 30 p = 3, p = 5 eoiel ™A T fhadd
ATl crafaehdl Hifed .
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5. Write short notes on (any fwo) : 10
() Utility function
(z1))  One-way classification
(z11) Find the slope of the line joining the two points (5, 3) and (2, 1).

(iv) Find average cost and marginal cost for the total cost : TC = 10x3 +

4x2 — Tx + 2
dreerra femr foagr (FIoremdt @FeR)
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() TC = 10x3 + 4% — 7x + 2 I THY TEHES THA € 0 Heiq @=
hlal.
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